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PART A: Grammar and Vocabulary
Directions: Choosetheword or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer shet.

61- It’sinteresting that after ten years of working together, John and Davis ... no problem up to now.

1) had 2) have had 3) didn’'t have 4) has had
62-1 lost my keyswhen | wasjogging yesterday morning. | have... everywhere.

1) looked for them 2) looked them for 3) looked for it 4) looked it for
63- It’scommon knowledgethat ... into a new houseiseasier said than done.

1) move 2) moved 3) moving 4) moves
64- Thisisthe second time Ashley ... to give me a message.

1) forgot 2) has forgotten 3) had forgotten 4) forgets
65- My close friend has an inactive lifestyle and hisonly form of ... iswatching television.

1) culture 2) recreation 3) discount 4) product

66- According to a new study, foreign students have ... in number from 12 thousand to 20 thousand in
this country since 2010.

1) increased 2) completed 3) appreciated 4) created

67- All family membersstarted to get ... when my younger brother didn’t arrive homelast night.
1) uncertain 2) cheerful 3) worried 4) proud

68- We must take action to improve theliving conditions for peoplewith mental ... .
1) habits 2) disorders 3) inventions 4) activities

69- With the computer business still in the worst situation, Mr. Ahmadi decided to ... hisjob to help his
wiferun her own business.

1) describe 2) replay 3) remember 4) quit
70- Our math teacher did not teach the new lesson yesterday because only 3 out of 25 students ... theclass.
1) imagined 2) attended 3) carried 4) spent
71-Listen! If you really want theticket for the game, you'd better ... . There sonly a few left.
1) check in 2) watch out 3) hurry up 4) get away
72-Trynot to ... through the exam. Take your time or you'll make a lot of silly mistakes.
1) practice 2) rush 3) suggest 4) cause

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

t ...(73)... around for thousands of years and the reasons for creating it vary from person to
person; so ...(74)... the meaning of it is not easy. Many believe that art is anything that arouses
emotion in you. These emotions ...(75)... entirely on your history, your story, and basically
everything that comes together to make up who you are. Because of this, three different people can
...(76)... the same piece of art and have wildly different reactionstoit.

73-1) was 2) has been 3) were 4)is
74-1) explain 2) explains 3) explaining 4) explained
75-1) confuse 2) risk 3) influence 4) depend

76-1) forget 2) cure 3) retire 4) experience
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PART C: Reading Comprehension

Directions: Read thefollowing passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer shest.

Have you ever had a feeling of joy that you can get from music, museums, handicrafts, and
theatre? Getting involved in the arts can have power ful and lasting effects on your mental health. It
can help to protect against a wide range of mental health conditions and help manage mental
illnesses. The best part of it isthat it helps people to improvetheir mental health through creativity.
Making art isalso helping many people express themselves without having to use words.

The arts help at a community level. As we age, we might face isolation and depression through a
loss of social connections, such as friends, family and workplace, and arts would be a solution. They
can be used as a non-medical way to contain mental health problems. Plus, remember being a kid
and the feeling of pride, self-confidence and happiness you had when you saw your parents while
sticking paintings to the wall. This feeling doesn’t go away when you grow up and still can be
effective. It is believed that lessons such as philosophy and physics are difficult and fearful, but a
mix of them with art would influence positively. The Oxford University students have done some
resear ch that suggests how painting helps some people with a rare mental illness and enables them

to reconnect with theworld.

77-What doesthe passage mainly discuss?

1) How arts can help improve the our physical health
2) Why we should create art

3) The fact that art is helpful for kids

4) Positive and negative effects of arts

78-We can understand all of the following from the passage EXCEPT ....

1) arts may help shy people communicate their ideas
2) arts can make education more enjoyable
3) artistic activities help have a better physical health

4) arts can help save money in the health service

79-Which of the following best describesthe function of paragraph 2 in relation to paragraph 1?

1) Paragraph 2 introduces a new topic unrelated to the one that was discussed in paragraph 1.
2) Paragraph 2 answers a question which remained unanswered in paragraph 1.
3) Paragraph 2 compares its new scientific reports with the ones available in paragraph 1.

4) Paragraph 2 states some more facts about the subject which was talked about in paragraph 1.

80-Theunderlined word “Plus’ in paragraph 2 isclosest in meaningto ... .

1) against 2) instead of 3) despite 4) besides
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